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1. Evaluate the following limats.
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K Determine whether lim f(x), lim f(x), lim f(x) and lim f(x) exit, when
x-1 X—2 xX-3 x—4

f(x)={x—-7 if2<x<4
x if4<x<6
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(1) f(x) = sin(x* + mx) + 7x° + x
.. 2—C0S 3x—cos4x
(i) fx)=
74+ 3x, when x <1

X
(i)  f(x) = {1 —5x, when x2>1

.

3. Test the continuity and discontinuity of the following functions.
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! 4, Determine whether the following function are continuous at x = 2
. x%—4 S x‘—4 h 2
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—x*+3 when x<2
x?+9 when x > 2

Is continuous everywhere justify your conclusion?
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sinkx  » %0
6. Find the value of k if f(x) = { x % it 1s continuous at x = 0,
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8. Find the values of m and n, so that given function f 1s continuous at x = 3.
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v2x+5—Vx+7
9. If f(x) = {—2 , X F 2
k . =

Find the value of k so that f is continuous at x = 2.
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